PI.	$\Delta N'$	$\mathbf{\Gamma} \cdot \mathbf{F}$	NTI	$7\mathbf{R}1$	PRI	SES	PRO	DII	CTIO:	N
111		1 12		7171	1.	レンエンレン	1 1	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Pine					72,456	cords	
Hardwood					19,761	cords	
Pulpwood (Total)					92,217		
Chip & Saw					138,585	cords	
Saw Timber							
Pine					6,692,951	board feet	
Hardwood					2,609,320	board feet	
Saw Timber (Total)					9,302,271		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill							\$23,240,823
Total Forestry Stumpage							\$13,627,093
Christmas Trees	*				390	trees	\$15,600
Forestry (Total)							\$23,256,423
FRUITS							
Blackberries	*	1.0	870.00		870	pints	\$870
Blueberries	*	2.0	930.00		1,860		\$2,325
Mayhaws							
Orchard	*	1.0	500.00		500	lbs.	\$750
Mayhaws (Total)		1.0					\$750
Peaches	*	2.0	98.00		196	bu.	\$5,880
Fruits (Total)		6.0					\$9,825
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	42,000.0	6.50	Yield / sq. ft.	273,000	lbs.	\$368,550
Greenhouse Vegetables (Total) HAY FOR SALE		42,000.0		_			\$368,550
Grass	22	325.0	3.00		975	tons	\$48,750

PI.	ANT	FNTFR	PRISES	PRODUC	TION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Hay for Sale (Total)		325.0				\$48,750
HOME GARDENS	455					\$136,500
NURSERY CROPS						
Floraculture & Bedding Plants	*				acre	\$25,000
Woody Ornamentals	*				acre	\$50,000
Foliage Plants	*				acre	\$20,000
Nursery Crops (Total)						\$95,000
SWEET POTATOES						
Canning				104		\$208
Fresh				416		\$5,824
Sweet Potatoes (Total)	*	2.0	260.00	520	bu. (50 lbs.)	\$6,032
VEGETABLES						
Collards						
Fresh	*	1.0	510.00	510	doz. bunches	\$3,570
Collards (Total)		1.0				\$3,570
Garlic	*	3.0	3,100.00	9,300	lbs.	\$37,200
Mustard (Fresh)	*	2.0	540.00	1,080	doz. bunches	\$7,560
Green Onions	*	0.5	1,750.00	875	lbs.	\$1,750
Shallots	*	0.5	625.00	312	doz. bunches	\$1,872
Snap Beans (Fresh)	*	8.5	130.00	1,105	bu. (30 lbs.)	\$27,625
Southern Peas (Fresh)	*	11.0	120.00	1,320	bu. (24 lbs.)	\$33,000
Sweet Corn (Fresh)	*	8.0			doz. ears	
Tomatoes (Field)	*	8.0	635.00	5,080	lugs (20 lbs.)	\$91,440
Watermelon	*	10.0	230.00	2,300	cwt.	\$18,400
Vegetables (Total)		52.5				\$222,417
TOTAL ALL PLANT ENTERP	PRISES					\$24,143,497

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	TIGHTER & WILD		KI KIDLD I I	ODCCITOR		
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS HUNTING LEASES				105	pelts	\$771
All Other Game	55	185,000	No. Acres Leased		acre	\$1,017,500
Hunting Leases (Total)						\$1,017,500
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES					\$1,018,271

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					_
Steer Calves					
300-400 lbs.			525	head	\$232,517
400-500 lbs.			480	head	\$242,309
500-600 lbs.			115	head	\$64,294
600-700 lbs.			115	head	\$73,255
Steer Calves (Total)					\$612,375
Heifer Calves					
400-500 lbs.			470	head	\$218,585
500-600 lbs.			185	head	\$97,649
600-700 lbs.			50	head	\$29,900
Heifer Calves (Total)					\$346,135
Yearling Cattle					
600-700 lbs.			65	head	\$41,405
700-800 lbs.			75	head	\$51,750
Yearling Cattle (Total)					\$93,155
Cow-Calf Pairs			250	pair	\$237,500
Cull Cows			1,600	head	\$657,016
Cull Bulls			50	head	\$45,923
					Page 3 of 5

ANIMAL ENTERPRISES PRODUC	CTION	
---------------------------	-------	--

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Cattle & Calves (Total)	120	2,690 N	lo. Cows			\$1,992,103
DAIRY		•				
Dairy Cows						
Milk	30	3,675 N	lo. Adult Cows	50,747,301	pounds	\$8,363,155
Bred Heifers				88	head	\$132,000
Adult Cows				234	head	\$292,500
Cull Cows				977	head	\$549,563
Bull Calves				1,876	head	\$112,560
Breeding Age Bulls				5	head	\$5,500
Dairy Cows (Total)						\$9,455,278
Dairy Goats	*		otal Adult Ooes	14,520	Pounds	\$3,194
Dairy (Total)						\$9,458,472
HORSES						
Brood Mares						
Show Horses	7	91 N	lo. Brood Mares	72	head	\$252,000
Recreation Horses	310	620 N	lo. Brood Mares	430	head	\$645,000
Brood Mares (Total)						\$897,000
Stud Fees						
Show Horses		10 N	lo. Stallions	60	mares bred	\$90,000
Recreation Horses		26 N	lo. Stallions	85	mares bred	\$17,000
Stud Fees (Total)						\$107,000
Show Horses	6			95	head	\$380,000
Recreation Horses	375			906	head	\$1,359,000
Horses (Total)						\$2,743,000
POULTRY						
Edible Eggs	*	824,425 N	lo. Hens	9,199,950	doz. eggs sold	\$7,727,958
Cull Hens				785,686	lbs.	\$117,853
						Dogg 4 of 5

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Poultry (Total)					\$7,845,811
QUAIL	*	750 No. Breed Stock	15,500	each	\$31,000
GOATS					
Show Goats			25	head	\$4,625
Slaughter Goats			105	head	\$11,025
Stocker Goats			20	head	\$1,700
Cull Goats			20	head	\$1,200
Goats (Total) SWINE	10	120 No. Does			\$18,550
Show Pigs			15	head	\$4,950
Feeder Pigs			100	head	\$4,600
Slaughter Hogs			28	head	\$4,368
Culls			10	head	\$1,120
Swine (Total)	*	30 No. Sows			\$15,038
TOTAL ALL ANIMAL	ENTERPRISES				\$22,103,974
ST. HELENA PARIS	SH TOTAL			_	\$47,265,742